FR20F EROHETH B FEEDKREH &

-EEWNERK

1.042= 523/502

FR20&E1A7H
E iy =
HELTImMTE HELTIE
o - KFRHEFEEBE I (AOWLEKAR) E#HEHERtEV I —D B FFIRE IHIE
A R ) KRR F A BT R T i 502kg/ 10a
e 2§3 o353 (B EFINE (WiEt- B 2—)  523kg/10a

SEMEDFEE 72510 (Eh b BARM)

J L 1L

J L

J L

NN N/

10hald - xLT-FEL =
miE 1208E 32,517.73hv
o ® @ BEHEBEREH(T+HANIZKVES
R 1R gjﬁ;%j@% 3 XAV -HIEE. HIOORIEIZ)=2—T L
Z010%| | gl pxm | |TRIEE 7 : —
ﬁb‘}}ﬁfé% AN DEEHRE| |HmgeRsE 4 TWHEERENKBEERE
ERARS RSV | |k @ | ILes] 45 X2 B | AERE [Z0ROT
7125.99h 7] = ERE | 2249%=. |FE. 15505 [FHEREs
e 348.55+y 3251773k 172000 L | JBKETE | BXEE |GEVLF-R
D1 ISks DOKEBEEE| (2R84 BIZE S %F
(EEX | $EEHFE BREES)
Z4/KkA) Z)
%% 0.90
= %% 1.20 | {%%01.20 | %% 1.20
(100-46.5) = = =
/(100-40.3)| ((100-40.3) | ((100-40.3) | ((100-40.3)
+ (403%x |+ (403x |+ (403 #5100
+40.3/%H20(0.3))/(100-{0.3))/ (100-{0.3))/ (100-| "> "~
EHHRAERE|  403) 40.3) 40.3)
-46.51%H
#1b X 1R

J L

B HE(D+Q+R+@)=72510by

4 L

OMTENMEE (FRIIFEEXETEEIIXLTISSU~101%DEHEERNELDILIMTEMBELECD)

J L

MEHR A OEZEICE T HER




